

Multiply by 10^{-3} (I)

Find each product.

$76 \times 10^{-3} =$

$39 \times 10^{-3} =$

$58 \times 10^{-3} =$

$23 \times 10^{-3} =$

$61 \times 10^{-3} =$

$24 \times 10^{-3} =$

$96 \times 10^{-3} =$

$23 \times 10^{-3} =$

$19 \times 10^{-3} =$

$78 \times 10^{-3} =$

$38 \times 10^{-3} =$

$86 \times 10^{-3} =$

$60 \times 10^{-3} =$

$6 \times 10^{-3} =$

$51 \times 10^{-3} =$

$94 \times 10^{-3} =$

$3 \times 10^{-3} =$

$53 \times 10^{-3} =$

$23 \times 10^{-3} =$

$4 \times 10^{-3} =$

Multiply by 10^{-3} (I) Answers

Find each product.

$$76 \times 10^{-3} = 0.076$$

$$39 \times 10^{-3} = 0.039$$

$$58 \times 10^{-3} = 0.058$$

$$23 \times 10^{-3} = 0.023$$

$$61 \times 10^{-3} = 0.061$$

$$24 \times 10^{-3} = 0.024$$

$$96 \times 10^{-3} = 0.096$$

$$23 \times 10^{-3} = 0.023$$

$$19 \times 10^{-3} = 0.019$$

$$78 \times 10^{-3} = 0.078$$

$$38 \times 10^{-3} = 0.038$$

$$86 \times 10^{-3} = 0.086$$

$$60 \times 10^{-3} = 0.06$$

$$6 \times 10^{-3} = 0.006$$

$$51 \times 10^{-3} = 0.051$$

$$94 \times 10^{-3} = 0.094$$

$$3 \times 10^{-3} = 0.003$$

$$53 \times 10^{-3} = 0.053$$

$$23 \times 10^{-3} = 0.023$$

$$4 \times 10^{-3} = 0.004$$